Funkcie — cyklometrické funkcie

Arkustangens Arkuskotangens

y=arctgx:R—(-%: %) y = arccotgx: R—(0; )

beerb@frcatel.fri.uniza.sk http:/ /frcatel.fri.uniza.sk/ beerb


mailto:beerb@frcatel.fri.uniza.sk
http://frcatel.fri.uniza.sk/~beerb

Funkcie — cyklometrické funkcie

Arkustangens Arkuskotangens
y=arctgx:R—(-%: %) y = arccotgx: R—(0; )
y arccotg x
—
% a{ct-éx % \\_
0 X 0 X
et
=
y

beerb@frcatel.fri.uniza.sk http:/ /frcatel.fri.uniza.sk/ beerb


mailto:beerb@frcatel.fri.uniza.sk
http://frcatel.fri.uniza.sk/~beerb

Funkcie — cyklometrické funkcie

Arkustangens Arkuskotangens
y=arctgx:R—(-%: %) y = arccotgx: R—(0; )
neparna,
y arccotg x
—
% a{ct'gx % \\_
0 x 0 x
e
=
y

beerb@frcatel.fri.uniza.sk http:/ /frcatel.fri.uniza.sk/ beerb


mailto:beerb@frcatel.fri.uniza.sk
http://frcatel.fri.uniza.sk/~beerb

Funkcie — cyklometrické funkcie

Arkustangens Arkuskotangens
y=arctgx:R—(-%: %) y = arccotgx: R—(0; m)
neparna, rastiica, klesajica,
y arccotg x
—
% a{ct'gx % \\_
0 x 0 X
S
=
y

beerb@frcatel.fri.uniza.sk http:/ /frcatel.fri.uniza.sk/ beerb


mailto:beerb@frcatel.fri.uniza.sk
http://frcatel.fri.uniza.sk/~beerb

Funkcie — cyklometrické funkcie

Arkustangens Arkuskotangens
y=arctgx:R—(-%: %) y = arccotgx:R—(0; m)
neparna, rastiica, klesajica,
nulovy bod je arctg 0 = 0. nema nulové body, arccotg0 = 7.
y arccotg x
3 arctg x \_
0 X X

[STE]

< o Nﬂl

beerb@frcatel.fri.uniza.sk http:/ /frcatel.fri.uniza.sk/ beerb


mailto:beerb@frcatel.fri.uniza.sk
http://frcatel.fri.uniza.sk/~beerb

Funkcie — cyklometrické funkcie

Arkustangens Arkuskotangens
y=arctgx:R—(-%: %) y = arccotgx:R—(0; m)
neparna, rastiica, klesajica,
nulovy bod je arctg 0 = 0. nema nulové body, arccotg0 = 7.
y arccotg x
3 arctg x \\_
0 X X

[STE]

< o Nﬂl

Vx€R : arctg x + arccotg x = 7.
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